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» Please check that this question paper contains 15 printed pages.

« Code number given on the right hand side of the question paper should be
written on the title page of the answer-book by the candidate.

« Please check that this question paper contains 27 questions.
+ Please write down the Serial Number of the question before attempting it.

+ 15 minute time has been allotted to read this question paper. The question
paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the
students will read the question paper only and will not write any answer on the
answer-book during this period.
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General Instructions :

(i)
(ii)
(iii)
(1v)
(v)
(vi)
(vii)

(viii)

31/1/1

The question paper comprises five sections, A, B, C, D and E. You
are to attempt all the sections.

All questions are compulsory.
Internal choice is given in sections B, C, D and E.

Question numbers 1 and 2 in Section-A are one mark questions.
They are to be answered in one word or in one sentence.

Question numbers 3 to 5 in Section B are two-marks questions.
These are to be answered in about 30 words each.

Question numbers 6 to 15 in Section C are three-marks questions.
These are to be answered in about 50 words each.

Question numbers 16 to 21 in Section D are five-marks questions.
These are to be answered in about 70 words each.

Question numbers 22 to 27 in Section E are based on practical skills.

Each question is a two marks question. These are to be answered in
brief.
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HET-H
SECTION-A
1. foga afmy ° Aearde 1 F1 %r gar 27 1

What is the function of a galvanometer in a circuit ?

2. S (S ) H IHE (W) U 1 T S 8 ? 1

Why is biogas considered an excellent fuel ?

qAT-d
SECTION-B
3. 98 9 genua foRan S gehar @ T syl sred gnoft fafis 9t &
TCHTUHAT & I =18 UL TeTia & ? 2
IreraT
fepelt @e =1 seragiien fa=rma 2, 8, 4.8
(a) Y 7ad @Rl § 39 ded il qU G I 3Ed g fafau)
(b) 38 T 1 A9 3R HHT U wifass qured ferfiay)

How it can be proved that the basic structure of the Modern
Periodic Table is based on the electronic configuration of atoms of
different elements ?

OR

The electronic configuration of an element is 2, 8, 4. State its :
(a) group and period in the Modern Periodic Table.

(b) name and write its one physical property.

4. i YaH FE % ¢ AE IR § 89 9 o o 3ueed (fage)

% 71 fafym g foflaw) % & a7 ot 3aarg fofay) 2
Write two different ways in which glucose is oxidized to provide
energy in human body. Write the products formed in each case.
(=173
]t
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5. 3 F gHSA e i gftare fafge) 33 S B amar § 2R T 39
YA W 3gE Hf s wro a9 9w ¥ fral 5 Wy 2 gey
I S99 2 2

Define the term power of accommodation. Write the modification
in the curvature of the eye lens which enables us to see the nearby
objects clearly ?

WHT-F
SECTION-C
6. foret = fow § 2 g foem aeiise Ao 8 3o T F fow o &
TeRTYl § T@T AT 8| TH ST § A9 R e HO 7 w5 areft qanfs
srffsran =1 wqfera wamafer gt 4t w8 ot sfufen &
YHR I TEEH fRau | 3
YT

fr= feu o v v # 29 areht R F R @ v sk
3o fore wqfera wamafie adfiwon fafau)

(a) T Toar A15ee @ sifufsrn e e Teee ofit faear aam 2

(b) TR rtERE AT g @ ANGRT w0 Wty wi ik
A JEIEEE a9 2

2 g of silver chloride is taken in a china dish and the china dish is
placed in sunlight for sometime. What will be your observation in
this case ? Write the chemical reaction involved in the form of a
balanced chemical equation. Identify the type of chemical reaction.

OR

Identify the type of reactions taking place in each of the following
cases and write the balanced chemical equation for the reactions.

(a) Zinc reacts with silver nitrate to produce zinc nitrate and
silver.

(b) Potassium iodide reacts with lead nitrate to produce potassium
nitrate and lead iodide.

Ohi)
EiaF

317171 4
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7. 34 s s am d ueEE v Red gifean FEES W A R
7 FFG TR S o0 27 30 @S AHe e a1 91 87 @S T
forar wehm &1 27 3
[dentify the acid and the base from which sodium chloride 1s
obtained. Which type of salt is it? When is it called rock salt? How
is rock salt formed?
8. aﬁ?%wﬁ@m%mwm,m%mwﬁag&
Fd gu, A fau e Aifirt % swfvaeh-a fafae: 3
(i) T8 (J9) | % Teal 1 AR
(i) THE 13 % dcal &1 eellss
(iii) 998 2 % acd A I EE 17 % dcd B % G40H & 54 A
Based on the group valency of elements write the molecular
formula of the following compounds giving justification for each :
(i) Oxide of first group elements.
(ii) Halide of the clements of group thirteen, and
(iii) Compound formed when an element, A of group 2 combines
with an element, B of group seventeen.
9. i wER ) whr arfemied % A fafy) v % ok fafe aa @
3g@ I 3
Write three types of blood vessels. Give one important feature of
each.
10. 34 weEl F F9 Fi ffan oo sf@l # i T R wEhd
H T Ed 2 3
Trace the sequence of events which occur when a bright light is
focused on your eyes.
B
[=]
31/1/1 S [PTO.
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11. wiey &6 # g 87 Freafafes % fo soeeh wey g & 9
%ﬁgq : 3
(i) @ i 9z ¥ gems
(i) =hifRrRT fawmem =t Oft e
(i) Ifg 1 Gere
(iv) Ffere 6 e & 9fy # waw
What are plant hormones ? Name the plant hormones responsible
for the following :

(1) Growth of stem
(i1) Promotion of cell division
(iii) Inhibition of growth

(iv) Elongation of cells

12. 39 ure" 1 914 fafee o sw dea 3 o st 3 e on) s
aﬁﬁaﬁaﬂraﬁmwwaﬁwaﬁﬁﬂaﬁtﬂﬁ%ﬁﬁ
qafedl & B FHEL G gE? F, N A 3% ww ol § sum

ferfiau) 3
areran

e I UH-Uh IS 34 gU IuMlAa i i wai & o @

=R g TR

Name the plant Mendel used for his experiment. What type of
progeny was obtained by Mendel in F; and F, generations when he
crossed the tall and short plants? Write the ratio he obtained in F 2
generation plants.

OR

List two differences between acquired traits and inherited traits by
giving an example of each.

(=70

IS
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13. YA H1 27 FHUY S quiA % fog Fmifr sw St 3

What is a rainbow? Draw a labelled diagram to show the formation
of a rainbow.

14. 1R ¥ fmer # Fuen # 9 A § g9 FE YEN FERd
gehd 27 o= fafear gamse) 3

HAAT

qifts i iy fafee) feed wites o Sai-yam guie % i s
Im@ Eifa)
How can we help in reducing the problem of waste disposal ?
Suggest any three methods.

OR

Define an ecosystem. Draw a block diagram to show the flow of
energy in an ecosystem.

15. 1 GUE FoRY eEd 87 ATEIEe T W I GUE ¥ deivd 2 39
Tl S gt STST) e 1 G Suceddl # @ % 4
Slicid 3
What is water harvesting? List two main advantages associated

with water harvesting at the community level. Write two causes for
the failure of sustained availability of groundwater.

HOT-¢
SECTION-D
16. (a) aferr ¥ &9 3 di Tt e A oge s e
| a7y T B UTg SR g o i fatE F Ewd 2
(b) fr=fafaa & fog wror g
(i) erfrere arqd Rrega 1 swelwife e w2
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(i) 3 (1) e7se [Fe,0;] #i aw Uefafem & any
sAffsran &1 3w wefeh ol B @ #oSed § fen
ST Bl 5

(a) List in tabular form three chemical properties on the basis of
which we can differentiate between a metal and a non-metal.

(b) Give reasons for the following:
(1) Most metals conduct electricity well.
(i) The reaction of iron (IIT) oxide [Fe,O:] with heated
aluminium is used to join cracked machine parts.

17. 36 @i 1 9 it et g7 fafaw ol vewreieh T ga
1 HECAY 3 | T 4 WA ohY g wEu) A areht sl
1 TETE(e THIH a7 3eq1g &1 I faflge 5= 77 d@ifie - ' 5
(i) @rfemm eng & sffsrar @ 2|
(ii) T Hig Fewri 3 @ sl s 2

srorar

HIT 1 27 sl soag-famg gte difav) g9 difes # A
el 1 TR fafan) 3@ yer & A

(i) Toega & Faras qu

(ii) 8 TeETh R FH FYATE AT G BId 87 FT BT 2 A 39

Iifireh o1 STferdio 28T grar 27

Write the chemical formula and name of the compound which is
the active ingredient of all alcoholic drinks. List its two uses. Write

chemical equation and name of the product formed when this
compound reacts with —

(1) sodium metal

(i1) hot concentrated sulphuric acid

31/1/1 8
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OR

What is methane? Draw its electron dot structure. Name the
type of bonds formed in this compound. Why are such compounds:

(i) poor conductors of electricity ? and

(ii) have low melting and boiling points? What happens when this
compound burns in oxygen?

(8. wmor ) gferm fofae) fafm yER F owomn fi s fif
QT ¥ @ el (aTEeRl) el sMEul Sug® WOl fRE MR
e Y 3 & S 1 HROT ST 2 7

e

(a) fiu T sm@ = TEet| gEh W 1" S
a% =% am fafau)

(b) T e R wea &7 mi-froue faf
A & 1 el Y g SR
Define pollination. Explain the different types of pollination. List

two agents of pollination ? How does suitable pollination lead to
fertilization ?

OR
(a) Identify the given diagram. Name the
parts 1 to 5.
{
. R | | 4=
(b) What is contraception? = List three }; S
advantages of adopting contraceptive
measures.
B
[8] .
31/1/1 9 [P.ILO:
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19. =13 o 30 cm wiwd g8 % foreh o/aaa &9 & 60 om gt W o
2l 5
(i) <9 g 1 394N Feh oF & Ffaters H gt 7a A
(ii) 39 YO § a4 o fdfers & 9r sifyason (wfa, feufq,
w15, Hiem/3eer) wht gt s
(iii) W7 (i) ® feu MU 3w 3= it gfe % o femor smm difem)
An object is placed at a distance of 60 cm from a concave lens of
focal length 30 cm.
(1) Use lens formula to find the distance of the image from the lens.

(i) List four characteristics of the image (nature, position, size,
erect/inverted) formed by the lens in this case.

(1i1) Draw ray diagram to justify your answer of part (ii).

20. (a) Torelt 3uzeh ftuy oM@ 6t Temar ¥ a8 fag Hifsw 5 uwdsn §
i wfaten & @98 % god Ui o1 gohd 9Ud iorel &
ScshAl o I % S gl 2l
(b) Toreht uftaer & 12 Q % &t wfedives 6 V i a2t & g @ urwdsn
T T g1 Sl & off 78 e 3a i) 5
areran

uftger # gt agEr 6 V f fordt Seht @ 20 Q wfewiy =1 s
faga a1 4 Q oty & =ras @ wAifsa 2| Fafafaa = o=

aftesfora hifse: @
(a) ftae =1 Fet g, | |

4Q
(b) uftae # yenfea o,
(c) (i) forga ow i n
(i) =eTe @ & W
feraT= e T Do
(d) ¥ i ol =
i
(=]l
31/1/1 . 10
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(a) With the help of a suitable circuit diagram prove that the
reciprocal of the equivalent resistance of a group of resistances
joined in parallel is equal to the sum of the reciprocals of the
individual resistances.

(b) In an electric circuit two resistors of 12 Q each are joined in
parallel to a 6 V battery. Find the current drawn from the
battery.

OR

An electric lamp of resistance 20 Q and a conductor of
resistance 4 Q are connected to a 6 V battery as shown in the
circuit. Calculate :

(a) the total resistance of the EE)

circuit, 40
(b)the current through the '_
CirCUit, In :
(c) the potential difference ':
across the (i) electric A » K
lamp and (ii) conductor, —M6HVH: —(B)—or- |
and |
(d)power of the lamp. |

21. et Rl wea 87 (i) forelt amardt afenferer o (i) fonelt B2
T I ey 8 et e emifga Fifw) 7 T &l %
faveTerrl eeron At = SRy 5

What is a solenoid ? Draw the pattern of magnetic field lines of
(i) a current carrying solenoid and (ii) a bar magnet. List two
distinguishing features between the two fields.

= EYE
OEZE

31/1/1 1 [P
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T
SECTION-E
22. 3 WeEAreEl A 3R B e swer: ag HCl 3 NaOH faeam it €, §
fiat forema w1 foemm faemen mn 81 0 @ TR wawet § oo A
fgd fe@ em? s@ W uiedd &1 3g@ Fite 3R sgeE wnw
g

[y}

HYar

et wes ot ok wwEett, e 1 g wifsan weEe fomm w2,
2mL T EESIaale TR e W T a1 YeAu a8 7 B aredl
situfsran 1 Tamafs g fofan)

Blue litmus solution is added to two test tubes A and B containing
dilute HCI and NaOH solution respectively. In which test tube a
colour change will be observed? State the colour change and give

its reason.
OR

What is observed when 2 mL of dilute hydrochloric acid is added
to 1 g of sodium carbonate taken in a clean and dry test tube? Write

chemical equation for the reaction involved.

23. ¥ qEAfe™l A, B 3R C # swws: dF it ga-smga 5id, yoid
'qrEet § W AT H A o fae e seftiifa faemar mn 2
T ¥ fF quaaeht # s it g siftreran gt e s gfe
#Hifs)

(8]

31/11 12
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In three test tubes A, B, and C, three different liquids namely,
distilled water, underground water and distilled water in which a
pinch of calcium sulphate is dissolved; respectively are taken.
Equal amount of soap solution is added to each test tube and the
contents are shaken. In which test tube will the length of the foam

(lather) be longest ? Justify your answer.

24, it o R geves @ o foas & el STRITU F1 Y&
w1 2| geresl # fau a1 i T H AR, e G 2

HAIGT

g1sel # g i guid % for 3fua s 7 Fmifea e @it

A student is observing the temporary mount of a leaf peel under a
microscope. Draw labelled diagram of the structure of stomata as

seen under the microscope.
OR

Draw a labelled diagram in proper sequence to show budding in

hydra.

25. “‘vama 6t amafy # O, Feadt 27 3| vE o grifies srasen | 39
vared 1 A fafau @ e s § a9 S8 weAet § fon

FAT 21 29 el 1 % 39 35 I9A % i = 3g@ i) 2
=l

(=] e

31/1/1 13 [P.T.O.
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In the experimental set up to show that “CO; is given out during
respiration”, name the substance taken in the small test tube kept in

the conical flask. State its function and the consequence of its use.

26. Toreht wfeiess @ varfea e (1) | 37 gfatus & B w f&var (V)
£ ffar &1 g w1 ora vfatus &1 gfaty @ F@ & A
foret B 3 ur & faftm 9t & fow 5 ureares @ Vo [ % o=
e e I8 W qe fomg @ e aTefl W W@ o9nl a8 e Fa
gfera T 87 39 UT% I WA ik Uferiesh 1 Sfaty Feifa w5
i fafyr feafau) 2

HAAGT

3g feufa & e e s &t 9o gema &0 99 97 98 urar @ 6 ufoy
gl 8 W arfier S dieediet % ehdeh/ggAl S UHEI W
3ifera S forel & wurdt 78 8 7 s ¥ sifafes srfier/ dieeHiex
EESECE R

While studying the dependence of potential difference (V) across a
resistor on the current (I) passing through it, in order to determine
the resistance of the resistor, a student took 5 readings for different
values of current and plotted a graph between V and I. He got a
straight line graph passing through the origin. What does the
straight line signify? Write the method of determining resistance of

the resister using this graph.

31/11 14

Class X Science www.esaral.com 14



https://amzn.to/3OFHQkO
https://www.esaral.com/seo-pdf-android
https://www.esaral.com/seo-pdf-ios
User
Rectangle


%:"Sa Fa I JEE | NEET | CLASS 8 - 10 Download eSaral APP [

OR

What would you suggest to a student if while performing an
experiment he finds that the pointer/needle of the ammeter and
voltmeter do not coincide with the zero marks on the scales when
circuit is open? No extra ammeter/voltmeter is available in the

laboratory.

27. 39 91 FEwE f g R S uem e e w6, 39
T =feT e 98 QU T 3w @ fi wiehw gft fhlh gwy faaw %
yfafensr i foreft u¢ W e e fuffa s 2 2

List four precautions which a student should observe while
determining the focal length of a given convex lens by obtaining

image of a distant object on a screen.

31/1/1 15
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Strictly Confidential: (For Internal and Restricted use only)
Secondary School Examination
March 2019
Marking Scheme — SCIENCE (SUBJECT CODE 086)
(PAPER CODE - 31/1/1)

General Instructions: -

1.

e 6 o6 o o o o o —
(=]

12.

13.

14.

15.

You are aware that evaluation is the most important process in the actual and correct assessment of the candidates. A
small mistake in evaluation may lead to serious problems which may affect the future of the candidates, education system
and teaching profession. To avoid mistakes, it is requested that before starting evaluation, you must read and understand
the spot evaluation guidelines carefully. Evaluation is a 10-12 days mission for all of us. Hence, it is necessary that
you put in your best efforts in this process.

Evaluation is to be done as per instructions provided in the Marking Scheme. It should not be done according to one’s
own interpretation or any other consideration. Marking Scheme should be strictly adhered to and religiously followed.
However, while evaluating, answers which are based on latest information or knowledge and/or are innovative,
they may be assessed for their correctness otherwise and marks be awarded to them.

The Head-Examiner must go through the first five answer books evaluated by each evaluator on the first day, to ensure
that evaluation has been carried out as per the instructions given in the Marking Scheme. The remaining answer books
meant for evaluation shall be given only after ensuring that there is no significant variation in the marking of individual
evaluators.

If a question has parts, please award marks on the right-hand side for each part. Marks awarded for different parts of the
question should then be totaled up and written in the left-hand margin and encircled.

If a question does not have any parts, marks must be awarded in the left hand margin and encircled.

If a student has attempted an extra question, answer of the question deserving more marks should be retained and the
other answer scored out.

No marks to be deducted for the cumulative effect of an error. It should be penalized only once.

A full scale of marks 1 to 80 has to be used. Please do not hesitate to award full marks if the answer deserves it.

Every examiner has to necessarily do evaluation work for full working hours i.e. 8 hours every day and evaluate 25
answer books per day.

. Ensure that you do not make the following common types of errors committed by the Examiner in the past:-

Leaving answer or part thereof unassessed in an answer book.

Giving more marks for an answer than assigned to it.

Wrong transfer of marks from the inside pages of the answer book to the title page.
Wrong question wise totaling on the title page.

Wrong totaling of marks of the two columns on the title page.

Wrong grand total.

Marks in words and figures not tallying.

Wrong transfer of marks from the answer book to online award list.

Answers marked as correct, but marks not awarded. (Ensure that the right tick mark is correctly and clearly indicated. It
should merely be a line. Same is with the X for incorrect answer.)

Half or a part of answer marked correct and the rest as wrong, but no marks awarded.

. While evaluating the answer books if the answer is found to be totally incorrect, it should be marked as (X) and awarded

zero (0) Marks.

Any unassessed portion, non-carrying over of marks to the title page, or totaling error detected by the candidate shall
damage the prestige of all the personnel engaged in the evaluation work as also of the Board. Hence, in order to uphold
the prestige of all concerned, it is again reiterated that the instructions be followed meticulously and judiciously.

The Examiners should acquaint themselves with the guidelines given in the Guidelines for spot Evaluation before
starting the actual evaluation.

Every Examiner shall also ensure that all the answers are evaluated, marks carried over to the title page, correctly totaled
and written in figures and words.

The Board permits candidates to obtain photocopy of the Answer Book on request in an RTI application and also
separately as a part of the re-evaluation process on payment of the processing charges.
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SET31/ 1 / 1

Total
Q.No Value Point/Expected Answer Value | Marks
Section ‘A’
1. | Detect the presence or direction of current. 1 1
2. | It burns completely/ burns without smoke / high calorific value. 1 1
Section ‘B’
3. Modern periodic table consists of groups and periods. Where number of valence
electrons determines the group and number of shells determines the period. 1,1
OR
(a) Group — 14, Period — 3 Yot
(b) Silicon %
Non — metallic / poor conductor of electricity Y2 2
(or any other property)
4. e Acrobic / Presence of oxygen 72
Product — CO, and H,O %
e Anaerobic / Absence of oxygen %
Product — lactic acid % 2
5. e Power of accommodation — Ability of eye lens to adjust its focal length. 1
e Curvature increases/lens becomes thick 1 2
SECTION C
6. e  White silver chloride turns grey in sunlight 1
e 2AgCl Sunlight 2 Ag+ Cl, 1
e Decomposition reaction / Photolytic decomposition 1
OR
a) Displacement reaction y
Zn+2 AgNO; —> Zn (NOs), + 2 Ag 12
b) Double displacement reaction "% 3
2 KI + Pb (NOs), — Pbl, + 2KNO; 1
(deduct 2 mark for non balanced equation)
Class X Science www.esaral.com 2
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%
7. e Acid — Hydrochloric acid/HCI 7
Base — Sodium hydroxide/NaOH
e Neutral Salt i
e When it forms brown crystals combined with impurities %
e Drying up of seas ! 3
8. i. A0 — Valency of group one is 1 and of oxygen is 2 VatYa
ii.  AXj— Valency of group 13 is 3 and of halogen is 1 Vet
iii.  AB;- Valency of element A of group 2 is 2 and of element B of group seventeen | %+ 3
is 1.
9. e Arteries — No valves/thick walled/carry oxygenated blood/carry blood away 1
from heart.
e Veins — Presence of valves/thin walled/carry deoxygenated blood/carry blood 1
towards heart.
e Capillaries — very fine/mixed blood/found in tissues/sites for material exchange. 1 3
10. Receptor Cells of eyes/retina — Sensory Neuron—— Brain / CNS
Pupil contracts / Eye lids close/blink «——— Eye Muscles = <+—— Motor Neuron | %:x6 3
( Note: If a child writes spinal cord in place of brain give full credit to him/her )
11.
Plant hormones — Chemical substances which help the plant to coordinate 1
growth and development
i) Auxins/ Gibberellins
i) Cytokinins
ii1) Abscisic Acid / ABA
iv) Auxins/ Gibberellins 7 x4 3
12. e Pea Plant / Garden pea / Pisum sativum 1
e F, - All tall; F»- Tall and short V2t
e Ratio — Tall : Short
3:1 / 1:2:1 1
OR
Acquired Traits Inherited Traits
1. These traits are not transferred from 1. These traits are transferred from one 1
one generation to the next generation generation to the next
2. They do not bring about change in 2. They bring about changes in DNA 1
DNA
Example: Acquiring any skill Example: Eye colour 1 3
(‘or any other relevant point and example)
13.

Class X Science www.esaral.com 3
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Rainbow — A natural spectrum of sunlight appearing in the sky after a rain shower 1
S~ ____:_':.'-;h\
\ )
"-_d-ﬂ/
2 3
14.
Segregation of waste; Recycling; Composting: Reducing the use of non — 1x3
biodegradable material: Reuse  (Any Three)
OR
The system where all the living organisms in an area together interact with the 1
non — living constituents of the environment.
EarMN vorRES
HERBIVOR 55—|
|
PRODUC ERS i
. T o i 2 3
| e T — . |
SUMLIGHT
M)
15. e A technique used to collect and store water for future use 1
e Advantages — Available resource in time of need
Recharging the ground water level %t
o (Causes — Overuse of ground water Lo
Deforestation ht¥ 3
Section D
16.
a) Metals Non Metals
1. | Metals form basic oxides with 1. | Non — metals form acidic or neutral
oxygen oxides with oxygen
2. | Metals react with dilute acids to 2. | Non metals do not displace hydrogen
liberate hydrogen from dilute acids
3. | Metals form positively charged ions | 3. | Non metals form negatively charged

Class X Science www.esaral.com
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| | by losing electrons | | ions by gaining electrons || 1x3
b) i) Metals have loosely bound electrons / Loose electrons easily / free electrons 1
ii) Molten iron produced during reaction joins the cracked machine parts. 1
5
17. e (C,HsOH, Ethanol/Ethyl alcohol %+
e Good solvent; used in medicines (Any other) Yt
i) 2C,HsOH + 2 Na — 2C,HsONa + H, 1
Sodium ethoxide %
ii) C,H;OH  Hot Conc. H,SQ; —» CH,=CH,+ H,0 1
443 K )
Ethene &
OR
. Y
e CHy/Simplest hydrocarbon
1
e Covalent bonds A
i) No ions or charged particles are formed 1
ii) Due to weak covalent bonds 1
e Carbon dioxide and water are produced/ 1 5
CH4 + 202 I C02 + 2H20
18. e Pollination — Transfer of pollen from anther / stamen to stigma of the flower 1
e Type of Pollination —
a) Self pollination — Transfer of pollen from anther / stamen to stigma occurs %tV
in the same flower
b) Cross pollination — Pollen is transferred from anther / stamen of one flower | 2+ 7%
to stigma of another flower
e Agents of pollination — Wind, Water, Insects and Animals (any 2) e+
e A tube grows out of the pollen grain and travels through the style, to reach the
female germ cell in the ovary to cause fertilization 1
OR
(a) . 1%
e Female reproductive system :
e Name of parts —

Class X Science www.esaral.com
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1: Fallopian tube/Oviduct
2: Ovary
3: Uterus
4: Cervix
5: Vagina
% x5
(b) e Method to avoid pregnancy
Advantages %
- Proper gap between two pregnancies
- Avoiding unwanted pregnancy s
- Keeping population under control
% x3
19. Hu=-60cm f=-30cm v="7?
111
f v “u
11,1 %
_=_4=
v f u
(=30cm) (—60cm) 60
s v=-20cm 1
20cm 1
m=v/u = == 1
—-60cm 3 %
ii) Nature:- Virtual %
Position:- 20 cm from lens on the same side as the object %
Size:- Diminished %
Erect/Inverted:- Erect %
(iii)
1 5
20. a)

Class X Science www.esaral.com
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From figure:
I =1+t
v v
Il - Ry s 12 R, ’

1

a) R=R;+Ry
=20Q+4Q =24 Q

_v
b) 1=+

- _
=720 025 A

¢) (i) For electric lamp:
V=IR
=2x20 =5V
24

(i1) For Conductor:
V=IR

V=6V

b)R1=R2=129

T12 12

1 1 Y

OR
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d) P=VI
=5Vx%A =125W

21. °
cylinder

(M)

o Distinguishing features —

A coil of many turns of insulated copper wire wrapped closely in the shape of a

Solenoid

Bar Magnet

1)Field disappear on stopping the current

1) No effect of current on field.

2) Strength of the field can be changed by
changing the current

2) Strength cannot be changed

3) Direction can be reversed by changing
the direction of current through it.

3) Direction is fixed and cannot be

reversed.

(Any two features)
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22. Section E
o Test Tube A %
e It changes the colour from blue to red %
Hydrochloric acid turns blue litmus red. 1
OR
e Brisk effervescence is produced 1
e Na,CO; +2HCI— 2 NaCl + H,0O + CO, 1 5
23. e Intesttube A 1
e As distilled water contains no salts 1 2
24.
1
(Any one diagram with any two labellings) %x2
OR
[ ]
==, (4 o
g
A A =
) W
) £ 3= = ,;{ | =
/| s St WY ke
\
\ / /
f ; (
J. Bl w
Drawing in proper sequence 1
Labelling — Bud 1 2
25. e Substance taken: KOH %
e Function: It absorbs CO; produced by the germinating seeds e
Consequence: The water level rises in the test tube dipped in the beaker /
partial vacuum is created. 1 2
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26. e Potential difference (V) is directly proportional to current (I) or VoI 1
e Method: Finding slope of the graph 1
OR
e Measure the zero error 1
e Value of zero error should be adjusted to the observed values 1 )
27. Precautions:
1) Lens should be held in vertical position with its faces parallel to the screen
2) Clear and sharpest image should be obtained by adjusting the position of lens
3) Three observations should be taken at least.
4) Base of lens, screen and measuring scale should be in straight line x4 |2
(or any other)
Class X Science www.esaral.com 10
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